P AR B XU BT (20 1) (AT : N)

[ ERL 187 A 18~195% 20~237% 24~277% 28~317% 32~357% 36~397% 40~435% 44~ATH% 48~515%
T [ i 0 17 685 1,188 1,470 1,564 1,516 1,256 1,088 1,024
Bk + il 0 4 32 47 45 62 50 58 64 66
il )| il 0 3 95 245 343 342 218 206 281 394
e & i 0 15 306 582 673 640 535 497 371 445
fiff im il 0 7 24 44 35 55 37 39 39 43
A E o M 0 8 88 123 134 120 90 63 76 90
A = il 0 9 189 388 453 591 432 340 391 437
g H i 0 5 74 96 81 102 95 77 94 135
B3 Ji il 0 4 31 56 74 60 54 58 66 96
A& H il 0 2 76 166 174 210 132 134 130 142
= a i 0 0 45 53 89 109 92 86 118 184
R 4 il 0 10 31 51 60 54 40 37 35 95
i, il 0 8 43 56 65 78 62 77 77 79
HoOE ¥ Of 0 7 72 121 151 169 177 166 119 174
i il 0 20 207 344 374 369 307 233 201 283
W5 i i 0 0 11 18 19 28 18 27 38 44
il Ji il 0 16 96 135 194 240 252 208 206 252
it (i il 0 12 91 139 163 158 141 107 83 78
N F R 0 5 82 120 160 175 206 138 113 102
* OB o+ M 0 2 53 88 101 101 95 81 92 93
e )| il 0 3 8 19 24 46 38 50 58 78
F2 S S ] 0 8 44 76 64 86 106 99 71 60
#H H il 0 10 44 92 108 134 144 88 90 80
= pais I 0 15 55 47 48 48 64 38 22 18
i %7 il 0 9 95 160 155 93 105 125 92 139
oot oE 0 7 50 82 81 72 50 59 56 73
W W 0 11 45 71 75 90 67 61 47 68
N i i 0 5 31 42 53 46 44 39 61 108
F [i] I 0 5 37 53 53 67 41 51 77 132
= Pis il 0 5 33 40 38 29 29 31 50 58
=1 B i) 0 12 41 43 46 38 30 38 48 68
M OB Rl 0 4 16 31 33 29 32 61 86 86
Iifi B il 0 0 8 29 42 51 35 45 59 71
7 Ji)e I 0 5 23 38 34 47 45 38 68 101
(L iy il 0 5 38 53 29 26 20 51 49 90
[ RS S 0 4 15 21 24 24 28 49 47 61
K A B W 0 3 25 35 37 39 49 42 69 110

(h F ) 0 8 79 135 157 167 148 131 128 153




RS FmpIk BB 5 (20 1) (HAiz: A)

[ ERL 187 A 18~195% 20~237% 24~277% 28~317% 32~357% 36~397% 40~435% 44~ATH% 48~515%
L 0 1 21 15 16 18 9 18 15 19
3 my 0 2 24 19 15 13 5 11 6 34
Ei iy my 0 2 8 6 13 9 4 3 6 10
% iy my 0 6 27 31 25 31 30 42 38 44
W E my 0 1 7 18 20 12 13 13 30 26
U+ v BoET 0 1 10 20 23 17 10 13 17 15
z i iy 0 0 14 13 14 16 18 15 11 9
B 2 ot 0 4 24 23 31 26 22 26 46 47
— = my 0 1 7 10 19 11 8 14 18 14
e TN my 0 2 8 12 8 5 12 14 13 19
E S A 0 0 5 11 14 17 17 20 18 18
= I my 0 1 2 9 7 18 9 12 16 21
R k] iy 0 1 4 8 12 15 7 11 10 13
=3 &3] iy 0 2 8 7 10 9 14 11 19 12
X % B 0 4 12 10 11 25 13 21 17 17
1 & iy 0 2 5 12 9 6 17 5 9 10
b kil my 0 5 9 6 13 6 10 7 14 13

(BT # F ) 0 2 11 14 15 15 13 15 18 20

(f F 1) 0 8 79 135 157 167 148 131 128 153

(BT # F 1) 0 2 11 14 15 15 13 15 18 20
(T BT # F 13) 0 6 58 97 112 119 105 95 93 111

&t 0 265 2,939 4,992 5,802 6,192 5,476 4,853 4732 5,657
BT # & 0 35 195 230 260 254 218 256 303 341
TR F 5T 0 300 3,134 5222 6,062 6,446 5,694 5,109 5,035 5,998
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P AR B XU R T2 (20 2) (AT : N)
i &t

+ [ i 851 3888 353 6 11,961
ok + il 78 70 28 0 611
il )| il 414 355 212 0 3,110
e & I 413 398 157 1 5,039
fiff im il 48 45 10 0 427
A E o M 123 65 38 0 1,018
i = il 415 404 164 0 4,245
g H il 116 132 25 4 0 1,036
3 Ji il 64 38 18 0 0 619
A& H i 92 58 7 2 0 1,325
Yz o) il 144 73 8 2 2 1,005
R & I 55 30 2 0 0 500
i, il 59 44 2 0 0 650
HoOE ¥ Of 154 103 24 1 1 1,439
i il 239 201 81 2 0 2,861
W5 i i 20 21 1 0 0 245
il Ji il 212 166 57 2 1 2,037
it (i I 88 97 21 4 0 1,182
N F R 112 91 25 0 0 1,329
* OB o+ M 87 77 5 0 0 875
e )| il 77 49 1 2 1 454
F2 S S ] 59 54 30 3 0 760
B H il 62 42 29 4 1 928
= pais I 52 41 9 0 0 457
i 7 il 179 150 85 0 0 1,387
oot oE 62 37 11 0 1 641
e W 60 26 3 0 0 624
N #i i 76 45 2 1 0 553
F [i] I 108 45 20 1 0 690
S| H: il 38 23 17 2 0 393
B LEEN i} 58 45 0 0 0 467
M OB Rl 62 50 21 1 0 512
I B il 36 50 21 2 1 450
7 Ji)e I 73 68 3 0 0 543
(L v il 47 30 7 0 0 445
[ RS S 43 28 2 0 0 346
X M A B of 61 40 16 2 1 529

mE B 133 13 42 6 2 1,397




P AR B XU R T2 (20 2) CITRUN)

i BT K 52~557% 56~597% &t
PSS S 1] 24 18 3 2 0 179
S my 38 38 19 2 1 227
Ei iy my 8 10 4 0 0 83
% iy my 38 20 12 4 0 348
W E my 12 18 11 1 0 182
U+ v BoET 14 10 0 0 0 150
z i iy 10 9 6 0 0 135
B ¥ St Wy 51 20 7 2 1 330
— = my 17 13 2 0 0 134
e R iy 5 1 0 0 0 99
E S A 11 10 0 0 0 141
S| e iy 22 15 3 0 0 135
R k] iy 11 7 1 0 0 100
=3 &3] iy 12 8 6 0 0 118
X % B 13 15 0 0 0 158
1 & iy 12 7 0 0 0 94
b kil Wy 2 13 5 0 0 103

(BT # F ) 18 14 7 2 1 160

(f F 1) 133 113 6 2 1,397

(BT # F 1) 18 14 2 1 160
(T BT # F 13) 97 82 6 2 1,008

oAt 4,937 4179 138 16 51,693
BT # & 300 232 11 2 2,716
TR F 5T 5,237 4411 149 18 54409

s () . (BTARER) . (FEETARES) 13, 22 nis Y 05 HIIRO Y Th o,




6K R BB T2 (2 D1) (HAT:A)

— W F B M A % 187 A 18~195% 20~235% 24~27i% 28~317#% 32~35p% 36~397% 40~435% 44~ATH 48~51%
= % ok oE 4 ¥ M 0 0 2 2 2 0 2 3 7 5
B M N ok E & ¥ H 0 0 1 1 1 0 1 0 0 1
2 HOW BT oM A 0 0 8 10 13 15 19 34 37 37
FBoE ook m B A ¥ 0 0 131 151 109 127 116 102 110 95
TR TITH R G FEBME 0 0 0 2 1 3 6 5 5 3
S P X R A B S 0 0 0 0 0 0 0 0 0 5
9% mE b X OB BT M AR A A 0 0 0 0 0 0 0 0 0 5
Ve B i, W & HRT TR A 0 0 0 1 0 1 1 1 4 2
SR T AL =T IS A A 0 0 1 1 0 3 2 2 4 1
s AR T OB OB M R M S 0 0 0 3 0 1 0 1 1 2
e B SR R BEATAE AL S 0 0 2 0 1 0 1 0 4 6
B i 5 2 f % i B A 0 0 0 0 1 1 1 0 1 2
Flove H X g & M A 0 0 0 1 0 0 1 0 1 3
W o o £ M & 0 0 2 0 1 0 0 1 1 1
ROM OB OB O 4 M S 0 0 0 0 0 3 0 3 2 3
Peritn, UGBTI, i1 % HEITFRA A 0 0 0 0 0 1 1 0 2 1
- "7 2| 3 oM & 0 0 1 0 0 0 0 1 0 0
F 1% FILAR I oK B 95 %5 /A 0 0 0 0 0 0 0 0 0 0
i MEF K M A 0 0 0 0 0 0 0 0 1 0
T ¥ R B OB M & 0 0 2 3 4 3 2 8 2 2
[ T IED T BR A AL AL A 0 0 0 0 0 0 1 1 1 0
R T Ak T AT A PR S S LS 0 0 2 0 5 5 6 2 3 4
2GR RR S T T AT P s AR A 0 11 31 27 34 34 16 21 37 34
LS T RS S S 7 iR 0 0 0 1 3 5 9 8 9 6
2B R T S I T T R R KA 0 10 28 49 46 48 56 46 63 68
[l B 117 A 22 D6 M3 5 /A 0 1 6 7 13 17 16 11 15 14
gt AR TR kAT B A 0 5 28 35 46 23 28 35 54 47
T WU S5k T T A B S RS 0 7 18 22 18 32 21 37 38 28
et )\ I < SRR A 0 7 37 32 27 26 33 22 42 66
TR L TR A P RS R 0 0 0 0 0 2 0 2 4 6
FlOA o X B oM S 0 1 31 31 29 33 15 13 32 47
Ju - Ju B b ek ok aE A 2E A 0 0 13 8 2 9 7 5 8 6
SR RBAR LSk T TR P A A 0 5 20 14 18 12 10 5 37 42
FIRERR T L Tl BT A P s R 0 0 0 1 5 2 1 1 3 3
b T 38 K ik Ak GE 4 ¥ 0 0 3 6 14 7 10 4 4 12
oM R BkoK GE 4 3 0 0 1 2 2 3 4 1 2 5
B BRI T K GE A 0 0 1 3 4 0 4 4 1 2
U ok E 4 ¥ F 0 1 1 3 2 1 3 0 0 3
[TV AR = o S| 0 2 11 8 1 6 2 3 5 6
FI V5 Mt (X B 52 R i 36 LA 0 0 1 1 1 3 1 1 3 6
7R IR ik ok GE 4 ¥ 0 0 2 1 2 2 3 2 3 9
T4 UL A% 100 v M 2 A L el 0 0 0 4 2 6 2 0 1 1
MK I A 2 0 3 6 11 10 23 23 10 11 19

(F 5) 0 5 14 15 14 15 12 12 15 16
HEESEH 0 53 390 441 417 457 424 395 558 608
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6K AR B RE T 27 (2 D2) (HAT:A)
— W F B M A % 56~59% &3t
= % ok oE 4 ¥ M 2 3 0 0 0 28
Mok E A ¥ 0 2 1 0 0 8
EH & B & W B ME A 17 18 5 0 1 214
FBoH ook w B A ¥ 97 59 6 7 2 1,112
TR TITH R G FEBME 4 0 3 1 0 33
OB R XA A B ZE AL 3 2 1 1 0 12
o8 T M X OBR OB M R ML A 7 6 0 0 0 18
Ve B i, W & HRT TR A 2 3 0 0 0 15
SR T AL =T IS A A 1 2 1 1 0 19
s AR T OB OB M R M S 3 1 0 0 0 12
e B SR R BEATAE AL S 3 3 1 1 0 22
FN i i 7F i 5% & B AL A 1 1 0 0 0 8
o o X fg A A 0 0 0 0 0 6
W o o £ M & 2 0 0 0 0 8
ROM OB OB O 4 M S 3 2 3 0 0 19
Peritn, UGBTI, i1 % HEITFRA A 1 3 3 0 0 12
- "7 2| 3 oM & 0 0 0 1 0 3
F 1% FILAR I oK B 95 %5 /A 1 0 0 0 0 1
i MEF K M A 0 0 0 0 0 1
T ¥ R B OB M & 2 2 0 1 0 31
[ T IED T BR A AL AL A 0 1 0 0 0 4
R T Ak T AT A PR S S LS 3 1 0 0 0 31
2GR RR S T T AT P s AR A 18 21 4 0 0 288
LS T RS S S 7 iR 5 4 3 0 0 53
2B R T S I T T R R KA 50 39 5 1 1 510
[l B 117 A 22 D6 M3 5 /A 2 4 1 0 0 107
gt AR TR kAT B A 11 0 0 0 335
T WU S5k T T A B S RS 15 9 0 0 259
Vet I\ TR & FERTYE B A 69 0 0 0 393
TR I X I T T A P SRS A 1 1 0 0 19
Flove H X W B M A 23 0 0 0 267
Ju - Ju B b ek ok aE A 2E A 9 4 4 0 82
R RS T L A T T AT P e AL 10 0 0 0 198
FIRERR T I i M A B s kA 3 3 0 0 27
b T 38 K ik Ak GE 4 ¥ 9 4 1 0 83
oM R koK GE R ¥ H 2 3 0 0 25
B BRI T K GE A 3 0 1 0 26
U ok E 4 ¥ F 0 1 0 0 17
[TV AR = o S| 1 0 0 0 51
FI V5 Mt (X B 52 R i 36 LA 5 3 0 0 28
P 5 R IR koK GE A ¥R 2 0 0 0 29
T4 UL A% 100 v M 2 A L el 2 0 0 0 20
S R EOE A A 2 12 9 1 0 156
(F 5) 10 3 2 1 107
HEESEH 354 21 4 4,590

% CF B 7

L DI HFIROD TR T,




